EECE 352

Problem Set #2

Due: September 8, 1998

Fall 1998

Problem 1 (25%): Indicate for each pair of expressions (A,B) in the table below, whether A is O, (, or ( of B. Assume that k ( 1, d > 0, m > 0, and b > 1 are constants. Your answer should fill each one of the boxes with either a “yes” or a “no”. Show your work, that is, prove that each answer is correct.
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Problem 2 (25%): Rank the following functions in order of growth. That is, find an arrangement g1, g2, …, g10, satisfying g1 = O(g2), g2 = O(g3),…and so on. Partition your list into equivalence classes such that f(n) and g(n) are in the same class if and only if f(n)=((g(n))..
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Remember that n! = 1(2(3(((n (it is called n factorial). 

Show your work. The solution to this problem starts like:

1, lg lg n, …..

Problem 3 (25%): Exercise 2.6 from the Weiss book.

Problem 4 (25%): Exercise 2.7 from the Weiss book.

Handing it in: You will hand in a hardcopy with your name and all your answers. As always, the deadline is at 4:00pm, no exceptions.
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